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sm(; —x |=cosx cos(z - x] =sinx cos(— x)=cosx sin(— x) = —sin x
. (7 v 4 . . .
sm(5+x =COSX cos(5+ x]=—smx cos(z—x)=—cosx sin(z — x) =sinx
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sm(—;—x =—C0SX cos(—z—xJ=—smx cos(7+ x)=—cosx sin(7 + x) = —sinx
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s1n(—5+ X |=—cosx cos(—; + x] =sinx cos(x + 2k7r) =COSX sm(x + an') =sinx
ctanyx = 285 tan x = sin x cos(a +b) = cosa.cosb —sina.sinb
sin x cos x cos(a —b) = cosa.cosb +sina.sinb
—lssiny<l « -l<cosx=<I sin(a +b) = sina.cosb + cosa.sinb
cos’ x +sin’ x =1 - .
sm(a —b) =sina.cosb —cosa.sinb
cos2x = cos’ x —sin’ x b4k
x= /4
in2x = 2si cos2x =2cos’ x —1 cosx = cosh &
sin2x = 2sin x.cos x x=—b+2kr
cos2x =1-2sin’ x
2 cos2x+1 . 2 1-cos2x ] ] x=a+2kx
cos" x =—— sin“x =—— sinx =sina &
2 2 x=x—-a+2kx
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